

$$\frac{a}{q}, a, aq, \dots \rightarrow \frac{a}{q} \times a \times aq = 4f \rightarrow a^2 = 4f \rightarrow a = f \quad -1$$

$$\frac{a}{q} + a + aq = 1 \rightarrow \frac{f}{q} + f + fq = 1 \rightarrow \frac{f}{q} + fq - 1 = 0 \rightarrow fq^2 - 1q + f = 0$$

$$q = \frac{-(-1) \pm \sqrt{(-1)^2 - 4(f \times f)}}{2(f)} \rightarrow q = \frac{1 \pm 1}{2} \rightarrow q = f$$

چون صوابی نیست
این قابل قبول است

$$(x^2) = (x^2 - 2)(x^2 + f) \rightarrow fx^2 = x^4 + 2x^2 - 1 \rightarrow 2x^2 = x^4 - 1 \rightarrow x^4 - 2x - 1 = 0 \quad -2$$

$$(x^2 - f)(x^2 + 2) = 0$$

$$x^2 = f \rightarrow x = \sqrt{f} \rightarrow 1, f, 2 \rightarrow q = \frac{1}{f}$$

$$x^2 = 2 \rightarrow x = \sqrt{2} \rightarrow 1, -\frac{f}{2}, 2 \rightarrow \text{وحد} \rightarrow \sum = 1 \times \frac{1 - (\frac{1}{f})^2}{1 - \frac{1}{f}} = \frac{12}{f}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{12}{f} \rightarrow \sum = q + q^2 + q^3 + q^4 + 0 + q^5 + q^6 \quad -3$$

$$= q(1 + q + q^2 + q^3 + q^4) = 12 \times \frac{12}{f} = 144$$

جواب : $A = \frac{1+4f}{f} = 22/f$ ، $B = 21 \times 4f \rightarrow B = \pm 1$

$A+B = 22/f - 1 \rightarrow 10, A+B = 22/f + 1 = 50/f$

$= 100/f$

$$a = a_1 + 10d \rightarrow d = \frac{-9a}{f} - (-2f) = \frac{1}{f} \rightarrow a = -2f + 10 \times \frac{1}{f} = 1 \quad -4$$

$$121, a, \dots \rightarrow a = 121 \times q \rightarrow a = 121 \times q^2 \rightarrow q = \frac{1}{f}$$

$$a_1, a_2, a_3$$

$$a_1 + rd, a_1 + rd, a_1 + rd \rightarrow (a_1 + rd)^2 = (a_1 + rd)(a_1 + rd) \rightarrow a_1^2 + 2a_1rd + r^2d^2$$

$$= a_1^2 + 2a_1rd + r^2d^2 \rightarrow r^2d^2 = -2a_1rd \rightarrow rd(10d + a_1) = 0$$

$$rd = 0 \rightarrow d = 0$$

$$10d + a_1 = 0 \rightarrow d = \frac{-a_1}{10}$$

$$a_r, a_f, a_n$$

$$a_1 + d, a_1 + rd, a_1 + vd \rightarrow (a_1 + rd) \cdot (a_1 + vd) \rightarrow$$

$$a_1^2 + 9d^2 + 4a_1d + d_1^2 + vd^2 + 12a_1d \rightarrow rd^2 + va_1d \rightarrow d = a_1, ra, fa, 12a$$

$$q = \frac{fa}{ra} = r \quad a_{10} = a_1 q = \frac{1}{f} \times r = 12$$

$$ra_r, ra_f, a_f$$

$$r(a_1, q), r(q, q), a_1, q \quad ra_1q = \frac{ra_1q + a_1q^2}{r} \rightarrow fa_1q^2 + ra_1q + a_1q^2 = 0$$

$$a_1q(-fa_1 + r + q^2) = 0 \rightarrow (q-1)(q-r) = 0 \quad q=1 \text{ } \checkmark \checkmark \checkmark$$

$$a_1q = 0$$

$$q = r$$

$$a_1 = 0 \checkmark \checkmark \checkmark$$

$$d = \frac{v}{f} \quad r = \frac{1}{f} \quad a_f = r + r \times \left(-\frac{1}{f}\right) = \frac{d}{f}$$

$$a_n = r + v \times \left(-\frac{1}{f}\right) = \frac{1}{f}$$

$$a_{1r} = r + 1r \times \left(-\frac{1}{f}\right) = 1$$

$$\frac{d}{f} + n, \frac{1}{f} + n, -1 + n \rightarrow \left(\frac{1}{f} + n\right)^2 = (n + \frac{d}{f})(n-1) \rightarrow$$

$$\frac{1}{14} + x^2 + \frac{1}{4}x = x^2 + \frac{1}{f}n - \frac{d}{f} \rightarrow x = \frac{-r1}{f} \rightarrow -f, -d, -\frac{rd}{f}$$

$$q = \frac{-d}{-f} = \left[\frac{a}{f}\right]$$

$$a_1 + a_1q^2 + a_1q^4 = vr$$

$$t_1 = a_1 = a, t_r = a_f = aq^r, t_{10} = a_1 = aq^9$$

$$\left. \begin{array}{l} t_r = aq^r \\ t_r = t_{10} + d \end{array} \right\} aq^r = a + d \rightarrow d = (q^r - 1)a \quad t_{10} = aq^9 = a + 9a(q^r - 1)$$

$$= a + 9aq^r - 9a \rightarrow aq^4 - 9aq^r + 12a = 0$$

$$a(q^4 - 9q^r - 1) = 0 \rightarrow q^r = \frac{9 \pm \sqrt{81 - 4}}{2}$$

$$q = 1 \rightarrow a + 10 + 12vr \rightarrow a = \frac{vr}{f}, d = a(q^r - 1)$$

$$q^r = 1 \rightarrow q = 1$$

$$q^r = 1 \rightarrow q = 1$$

$$\frac{vr}{f} \times (1-1) = 0$$

$$a = 1 \rightarrow a + 12a + 12fa = vr \rightarrow a = 1 \rightarrow d = a(q^r - 1) = 1 \times (1-1) = 0$$